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The figures'in the margin indicate

Sull marks for the questions.

1. 'Answer the following with correct option :

(@)

(b)

1x10—10

According to/( )~ social control is
the sum of those methods by which a
society tries to influence human
behaviour to maintain a given order.

(Fairchild/ Manheim)

~__ consists of the opinion held
by a public at a certain time.
//,/ (Propaganda/Public Opinion)

o .
According to whom — “Law are codified
mores.” ?

(Sun"mer/ Maclver and Page)

Contd.




6pmes that “Laws are a form 2. Write short notes on : 2x5=10
of social rule emanating from pohtlcal .
agencies.” (@) Sociological definition of crime

(J.S. Roucek/Roscoe Pound)

(d)

- (b) Types of social discrganisatior;
(e) According to whom, norms refer to the . |

: “sroup-shared expectations "o ' (c). Deﬁmtl'on of crime
(H.M. Johnson/Young and Mack) (.d) Sociélisaﬁon

(i A state of disequilibriumn and a lack of
social solidarity or consensus among .

<" - the members of a society is known as

(e)- Customs,

3. \ Write an essay on law as a means of social
conirol and relationship between law and
society. : 6+6=12

(Social disorgarﬁéation/ deviance)

(g0 The imbalance. in the rate of speed of \
change between the material culture : RN or
and non material culture in known as '

. I Discuss the recent trends of law in India.
(cultural diffusion/cultural lag) 12.

M) | is regarded as the founder of

deterrent theory.
(Jeremy Benthiam/Sutherland)

Juvenile delinguency is | in

What are the nature of social control ?
Discuss in details the purposes of social
control. 6+6=12

Or

nature. I
- -{eonservative /anti-social) ‘v" /’

~ \\ e Critically analyse any two agencies of
() The. ‘bouk ) entitled “Folkways” informal social control. 6+6=12
was written by ___ -~ | (W.G. Sumner/

A. Comite)
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What are the cau‘s'ves of soéial conformity ?
In what ways conformity and social control
are interrelated ? v C 844=12

or .

Discuss about various types-.of deviance.
Critically analyse the social significance of
deviant behaviour. g ~_6+6=12

Highlight the characteristics of social

disorganisation. Mention some remedial

measures of social disorganisation.
8+4=12

or

Discuss in details ail causes of social

. disorganisation. - (| , , 12

What is punishment ? Broadly explain any -
one theory of punishment. 2+10=12

Or

Mention about various types of crimes in
details. ) /; 12

i

[
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